
   

  

SMT-07-1042 A1 

 

MAINTENANCE CART 
User Manual 

 

Description 

MAINTENANCE CART OVERVIEW 

P/N  Product Description 

TV116355 Maintenance Cart 

• Dimensions: 1.04m x 0.64m x 0.90m  
(40.8" x 25.0" x 36.3") 

• Weight: 40 kg (88 lbs) 

• User manual 

TV118395 Gas Bottle Bracket  Bracket with strap, bumpers and hardware 

The TITAN VERSA Maintenance Cart is designed to carry one TITAN VERSA 

leak detector unit, one additional backing pump, and small tools or parts that fit 

within the attached drawer. With the gas bottle accessory, it may also be used to 

carry one standard size gas cylinder (T, K, S, Q) on front of cart. 

Transport and Storage 

➔ When shipping or transporting cart, ensure cart is raised so that the wheels 

and casters bear no weight. Ensure drawer is empty and either removed 

from cart or closed and secured. 

  



2 

Safety 

WARNING: 

• The TITAN VERSA Maintenance Cart is only to be used with a TITAN VERSA 

Leak Detector as outlined in the manual 

• You must install, operate, and service the device only in compliance with these 

operating instructions 

• The device was built according to recognized state-of-the-art safety 

regulations. Nevertheless, improper use can result in danger to life and limb of 

the operator or other persons and damage to the device and other property 

• Always use two people to lift cart 

Installation 

If the cart is purchased separately from the leak detector, the user must install 

the leak detector onto the frame using these instructions. Ensure the leak 

detector is mounted to the cart using the provided 4x M6 screws and 4x M6 

washers. 

 

 



3 

Gas Bottle Installation 

If gas bottle is purchased separately from cart, use assembly instructions below 

to attach gas bottle kit. Gas Bottle Attachment Kit includes front bottle bracket, 

cinching strap, rubber bumpers, and attachment hardware. 

➔ Place strap through bracket, then attach bracket to cart using 2x M6 screws 

and 2x M6 washers. 

 

Mounting position for Compact or Tower configurations. 

 
FRONT OF LEAK DETECTOR 

Mounting position for Horizontal configuration. 

 
  FRONT OF LEAK DETECTOR 



 

 

3085 West Directors Row, SLC Utah 84104 | 801-486-1004 | www.lacotech.com 

➔ Attach rubber bumpers to base of cart using 2x lock washers and 2x M6 

nuts. 

 

 

Operation  

Always lock wheels before using or adjusting leak detector or pump. Do not 

move the cart when the leak detector is in operation. Cart may be moved five 

minutes after leak detector has been turned off. 

Maintenance and Accessories 

MAINTENANCE CART ACCESSORES AND SPARE PARTS 

P/N  Description  

TV118395 Gas Bottle Attachment Kit /Assembly 

LMSA5923 Replacement Casters 

LMSA5924 Replacement Wheels 

 


